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15 QUESTIONS
20 MARKS

TOTAL TIME FOR BOOKLETS A AND B: 50 MINUT

INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so.
Follow all instructions carefully.

Answer all questions.

The use of calculators is NOT allowed.

This booklet consists of 6 printed pages including the cover page.
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Questions 1 to 10 carry 1 mark each.

Questions 11 to 15 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3, 4) on the
Optical Answer Sheet (OAS). [20 marks]

1) In 9 378 361, what is the difference between the vaiues of the digits 3?
(1) 297 000 {2) 299 700

(3) 300 000 {4) 303 000

2)  How many hundreds are there in the product of 285 and 40?

{(nH 114 (2) 1 140

(3) 11400 (4) 114 000

3) Round off the product of 6 507 and 9 to the nearest thousand.
(1) 1 000 (2) 7 000

(3) 59 000 (4) 63 000

4) In325748=3x100000+25x | ? {+7 x 100 + 48 x 1, what is the
missing number?

(1) 100 {2) 1000

(3) 10 000 {4) 100 000




5)

6)

7

What is the value of S x 8 + 36 =~ 4 - 177

(1) 10 (2) 64

() 82 (4) 577

| What is the missing number?

160 945, 1 260 945, 2 360 945, 3 460 945, ?
(1) 3 360 945 (2) 3 560 945
(3) 4 460 945 (4) 4 560 945
What is the value of A?
l I | | | l
| | | i I |
] 1 3
5 5
A
3 2
1) = 2y =
(1) 0 (2) S
H 7
3} — 4y —
(3) 5 (4) o



8)

9)

10)

A tin contained l]ikg of biscuits. Nick sold i—kg of the biscuits. How much

biscuits was left in the tin?

1 1
(1) gkg 2 Ekg

3 ' 5
(3) Zkg 4) . kg

Which one of the following is the closest estimate for 12 786 + 5?

(1)12000 =5 (212790 +5

(3) 12 800 + 10 (4) 13000 =10

Find the sum of %and é- . Leave your answer in its simplest form,
23 19

1 22 2y -2

M 24 @ 24

22 3
) % “) -




11) Ashley bought a car and paid for it in instalments. Each instalment was

12)

13)

$750. After paying 20 instalments, she sfill had to pay $3 465. Which one
of the number sentences shows the actual cost of the car?

(1} {20 x $750) + $3 465 (2) ($3 465 - $750) x 20

(3) (20 x $3 465) + $750 (4) ($3 465 + $750) x 20

The length of a rectangle is twice its breadth. Its perimeter is 306 cm. Find
its length.

()51 cm (2) 76 cm

(3) 102 cm (4) 152 cm

Find the perimeter of the figure. {Note : All the lines meet at right angles.)

2icm
/\\ P
11 cm

24 cm

W

N 32 cm -

(1) 88 cm {2) 99 cm
(3) 101 cm (4) 112 cm

5

8s



14) Which one of the following figures is a symmetric figure?

1) 2)

) (e
. A2

O

15)  Which one of the unit shapes below does not tessellate?

YNV AN

End of Bookilet A
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15 QUESTIONS
20 MARKS

TOTAL TIME FOR BOOKLETS A AND B: 50 MINUTES

INSTRUCTIONS TO CANDIDATES

DO NOT TURN OVER THIS PAGE UNTIL YOU ARE TOLD TO DO SO.
FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL QUESTIONS.

YOU ARE NOT ALLOWED TO USE A CALCULATOR.

This booklet consists of 7 printed pages including the cover page.
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Questions 16 to 25 carry 1 mark each. Write down your answers in the 32{2‘;{‘1
spaces provided. For questions which require units, give your answers in the- this space.
units stated. [10 marks]

16) Write 5 932 014 in words.

Ans :

17) Complete the number pattern.

7250 814, 6 350 814, ,4 550814

Ans :

18)  Arrange the digits below to form a possible 7-digit number which is
4 678 000 when rounded off to the nearest thousand.

[7_] 1 6 5 2 4 7

Ans :




Do not

19)  Find the vaiue of 76 + 4 + (8 - 3) x 12. ;’;’;“e in
is space.

Ans :

20) How many ten thousands are there altogether in 310 0007

Ans ;

21) In 8 176 402, what does the digit 1 stand for?

Ans :

22) Whatis the sum of 70 ten thousands and 15 hundreds?

89




23) 1

Find the surm of 3, m and % Leave your answer in its simplest form.

Ans :

24) What number must be added to 5 700 so that the answer is a 4-digit
number with the digit 7 in the thousands place, 5 in the hundreds place and

zeros in both the tens and ones places?

Ans :

25)' Janice saved $128 monthly. How much did she save in 20 months?

Ans: §

Do not
write in
this space.




Questions 26 to 30 carry 2 marks each. Show your working clearly and write
your answers in the spaces prowded For questlons which require units,
give your answers ini the units stated. ’ [to marksj{

26) Add the difference between 3 609 and 857 to the product of 45 and 600.
What is the answer?

Ans :

27
) The length of a rope is llom. Ross used %m of the rope. How many metres

of rope did she have left?

Ans : m

Bo not
write in
this space.




Do not
28) In the figure, ABCD is a rectangular piece of wood, 23 cm by 16 cm, A | Witein
smaller rectangle, WXYZ, is cut out from the piece of wood. What is the area this space.
of rectangle WXYZ?
P 23cm
A 20
A 2 A
W W cm X
[T "%3.;"3\ 16 cm
2 - v
v 2cm v
B C
Ans : cm?
6



29) Mindy spent % of her allowance on groceries. Then she spent some of it on

transportation. In the end, she had %of her allowance left. What fraction of

her allowance did Mindy spend on transportation?

Ans :

30) Madeline baked 395 almond cookies. She packed them into 9 boxes equally.
Of the remaining unpacked almond cookies, she ate haif of them. How many
almond cookies did she have left?

Ans :

End of Paper 1

Do not
write in
this space.
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Do not turn over this page until you are told to do so.
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Answer all questions.
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units,
give your answers in the units stated. {10 marks]

1)  Anson has $3 730iand Brandon has $39 355! How much must:
Brandon give Anson so that Anson has 4 times as much money as’
Brandon? .

Ans: $

2) Mr Foo distributed $1 288 to each of his 23 employees as bonuses.
Then he had $5 697 left. How much money did he have at first?-

Ans:$

Do not
write in
this space.

Ay



3)

4)

ABC Faclory instructed its workers to pack 12:367:kgjof sugar. In the
packing process, the workers gpilled 84: kg of sugar. They were then

asked topack therémaining sugar into;sacks of 15 kg8ach. What was
the magximniim Tilibéerof sacks of Stigar that could be packed?

Ans :

Julia;Ken and Sass had $38 282 altogether. Julia had $1 065 more than :
Ken,and thrice as much as Sass: How much did Sass have?

Ans:$

Do not
write in
this space.




Do not
write in
this space.

5) Shade 4 more boxes to complete the symmetric pattern.

97



For questions 6 to 18, show your working clearly and write your

answers in the spaces provided. The number of marks available is

shown in the brackets ( ) at the end of each question or part-question.
[50 marks]

6)  The total mass of d:gditph: 6f 24 watéiinglbng is 25.500 g. If the mass
offedeh watemiglon 19554, fi f' nd t,h +MiA5S of the-empty ¢ carton Round *
offiyour answer to theingarest: thousand grams:

Ans: (3m)

7 Esther bought 9 T-shirts and 11 pairs of trousers for $535. Christina
bought. 15 T-shirts and 11,trousers for $613. Uoanne bought 21 T-shirts,
How much did Joanne pay?

Ans: (3 m)

Do not
write in
this space.




8) Jodie and Fred had a BT dl:of 28; 800:beads.iVWhen Jodie: gave 768" Do not
beéads to Fred, she hid;15:times as many beads as Fred/ How many write in

beads didiFred have at first? this space.

Ans: (3 m)

9} Alice had %k'g of flour. She used -j:kg of flour to bake some muffins

and gave -;-kg of flour to her mother. She needed another %kg of flour

to bake some cookies. How much more flour did she have to buy?

Ans: {3 m)

9



10)

11)

#2:girls:had:1o make somié’ pap r-cranesg One of- them was absent and

dhe- rest:had-to ‘make 7' mor&paper: ‘CranbssEashf How many paper

cranes did the girls have to makezaltogether

Ans: (3 m)

Limei mixed 2 010 m¢ of tomato sauce with thrice as much chilli sauce
to make a special dipping sauce. She poured the dipping sauce into 40
bettles equally. :How much dipping sauce would there be in each bottle?
Give your answer in m¢f .

Ans: (3m)

Do not
write in

this space.




nent vaded: part of the-field;jas shown e figure below
i at it costs $47 to cement-1 m2 of.the fieldi how much does Mr
for cementi part

o)
0 ting the shaded of the field?




13)

¥

The figure is fiadéftipioFZrgctangles; ABED.and:CDEWY. CF1S;;«Of BCH

and %théedrea’of rectanplé:ABEDI5:9A08: 6.
(a) Find the area-of rectangle €DEE.
(b) Find the péiimaterof the figuie?

A

Area =9 408 cm?

Ans: (a)

O—————HU
IS
O
3

(2m)

_(2m)

Do not
write in
this space.




14)  Worth-to-Buy Bookshop gells pens at either $0.75 per pen or 12 pens; | Donot
for $8.3Sam bought-exactly 75 pens! What was the minimum amount of write in
. money that he spent on the pens? this space.
Ans: {4m)
10

103



15)  The table shows the charges at a carpark. ‘ _ Do not
: write in

Eirsthoply $2:50% this space.
Every Additiopal hoir: %4700
sExtraiéhargeiper hour affer 7 piiid 3080

Lydia parked her car at the carp‘ark from F:p:: t6:9 pimis on the Siitne:
-#aiy) How much did she have to'pay?

Ans: 15m)

i1



16) Azman bought a house. He paid.a deposit of $25 000 ahd paid the rest Do not
of it in instalments. Each monthly instalment-was $2 186 JAfter- paylng write-in
for 420 months, he still had to pay ancther $155 592, - this space.
(a) How much did the houss cost?, -

(b) If Azman were o pay for the same house in 400 instalments
. instead, how much more would he have to pay each month? ¢

Ans: (a) (2m)

(b) (3m)

12

105



17)

Maggie had a square plece of land of length 250 m. She wanted to
distribute the land among-her mother, brotherand sister. Her mother
would receive a piece of fand measuring 125 m by 180 m. Her sister
would receive a piece of land with an area that was 4 times of what her
brother received.What is the area of the land that her sister would.
receive?

Ans: (5m)

Do not
writeln
this space.




18)  Wendy used.252 ¢m of wire ten from-the figure below. The figure is Bo-not
made up of a square a rectangie:and three-identical-triangles with a wiiledn
aqual sides if the perimeter of the square is twice of the perimeter of a this space.
triangle what is the length of the:square?

21 cm

S 15om

Ans; | {5m)

End of Paper

1o77






ExamSutra i X£

Answer Sheets

SCHOOL @ CHET | )

1.6)Five million, nine hundred and thirty-two thousand and fourtean

17)5

350814 16J4677521 1979 20931 #1)100000
223701500 23)14/15 241800  25)$2560

26)3600 = B5F = 2752
600 x 45 = 27000
27000 + 2752 = 29753

The answer is 28752.

Y7100~ 1 ) 6m = 21 [30m~ 5/ 30m N
= 16/30m = Bf15m
Shehad 8/15m of rope left.

m;zmmz 4cm

16m~w§an=12m o

19cm x 12 = 22Bam:
mﬁamﬂmwmkmanz -

B ~PTERAET
oy i R MRS T 4 wneh T i g R LR R Ry TR I
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29038+ 16 =9f24 + 4/24
= 13724
1~13724 = §1/24
Mindy spend 11124 of her allowance.

35)3954-9 = 43 HE
BE2=4
G-4=43
She had 4 atmond cookias Teft,

o
1}#39355 + $3730 = Mﬂﬂﬁ
44308555 = $8617y
$85§:? X 4 = $33468
o #3?3& M?HB

LB x 23 = $I9624
$29624 + $5607 = §35321
Hé had 535321 at first. .

3)12367kg — B4 = 12283kyg
*11233%?(9“ 15kg = 818
The maximum number of sacks

%38282 + $1ﬂ55 = $39347-27y
$39347 =7 = $5621
Sasg Etati $5621.

Wy

i

of sugar that could be packed is B18

Page 2




6)955g x 24 = 22920q
25500g — 22920g = 2580g
25809 ~ 3000g
The mass of the empty carton is 3000qg.

7)9T + 11P = $535
15T + 11P = $613
$613 — $535 = $78->6T
1T>4$78+6 = $13
$13x21 =%$273
Joanne paid $273.

8)16u->28800
1u->28800=-16 = 1800
1800 - 768 = 1032

Fred had 1032 beads at first.

9)11/12kg — Yakg — 1/3kg = 11/12kg — 3/12kg — 4/12kg
= 4/12kg = 1/3kg -
5/6kg - 1/3kg = 5/6kg — 2/6kg
= 3/6kg = Vz2kg

Alice had to but ¥z kg more flour.

10}42-1=41
41 x 7 = 287->1 girl
287 x 42 = 12054 .
The girls had to make 12054 paper cranes altogether.

11)2010mi x 3 = 6030m}
6030ml 2010ml = 8040ml
8040ml-=-40 = 201ml ..
There would be 201ml of dipping sauce in each bottie.

12)46m x 32m = 14772m:
22m x 17m = 374mz2
1472m2 — 374m:2 = 1098m:
1098mz2 x $47 = $51606

Mr Brown need to pay $51606 for cementing the shaded part of the field.

13)a)9408cmz2--42cm = 224cm
224cm=7 = 32cm
32cm x 42cm = 1344cm:z2
The area of rectangle CDEF is 1344cm2
b}(224cm+32cm+42cm)x 2 = 596cm
The perimeter of the figure is 596cm.

Page 3
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14)75+12 = 6 R3
6x4$8=%48
3 x%$0.75 = $2.25
$48 + $2.25 = $50.25

He spent $50.25 on the pens.

15)1% h>$2.50
4pm-----7PM>3 X $1 = $3

7pm-----9PM->2h x $1.80 = $3.60

$2.50 + $3 + $3.60 = $9.10
She had to pay $9.10.

16)a)$2186 x 420 = $918120
. $918120 + $25000 + $155592 = $1098712
The house cost $1098712 S

b)§'1098172 —$25000 = $1073712
$1073712:-400 = $2684.28
$2684.28 — $2186 = $498.28
He would have to pay $498.28 more.

17)250m x 250m = 62500m:2
125m x 180m = 22500m2
62500mz ~ 22500m:2 = 40000m:
(40000mz2+-5) x4 = 32000mz

Her sister would receive 32000m: of the land.

18)(15cm x 2)+ (21cm x 2) = 72cm
252cm — 72cm = 180cm
180cm =5 = 36cm ( peri ofA)
Sq's peri»36x2=72
744 = 18cm

The length of the square is 18cm.

Page 4
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